(B - )

=) ' }Elz Efﬂﬁ ot Qi_,ﬁ
a ' e :—r] | wi |-4H‘1E| [SHIE | 7AI8 [ 1TA1E fi6%
- =
EO6E B W B H ,
N = .
1. kPIs%iE
1) RIVb -Fv R ‘ :
AARN E(55400) M10X16m 0000 H/ke 193 193 193 193
AATILE_(55400) ML2X16m 0000 A/ ke 177 177 177 177
AAFIV L (55400) M10X20m 0000 MH./ke 193 193 103 193
ATV E_(S5400) M12X20m 0000 H/ks 176 176 176 176
AERI_(S5400) M14X20Om 0000 B.ke 193 193 193 193
AAFRIVE_(55400) M16X20m 0000 H./kg 152 152 152 152
' AARI T (55400) M10X2 5mn 0000 MH./ke 197 197 197 197
AEARIL L (55400 M1 2X25m 0000 M./kg 177 177 171 177
AFRNE_(S5400) M14X25m 0000 M kg 193 193 193 193
AREATI R (55400) M16X25m 0000 M./ ke 150 150 150 150
AARIE (33400 M10X30m 0000 M/ ke 197 197 197 107
AR R (55400) M12X30mn 0000 M. ke 178 178 178 178
AT (55400) M14X30m 0000 MH/ke 192 192 192 192
AAR L (55400) M16X30m 0000 M/ ke 151 151 151 151
AR R (S5400) M2 0 X3 0mn 0000 ke 151 151 151 151
AARI L (55400 M22X30m 0000 M./ ke 156 156 156 156
AERIL (58400 M24X30mm 0000 M/ kg 161 161 16] 161
AAFRIVE_(55400) M10X35mm 0000 ke 197 197 197 197
AR (S5400) M12X35m 0000 B ke 179 179 179 179
AARVE_(S5400) M14X35m 0000 M/ kg 193 193 193 193
AR+ (55400) M16X35mm 0000 M ke 151 151 15] 151
AfAFIL B (55400) M2 0 X3 5mm 0000 F./ke 151 151 151 151
AAFIVE(55400) M22X35mm 0000 A/ke 156 156 156 156
AL E_(55400) M24X35mm 0000 M./ kg 161 161 161 161
AARI B (55400) M10X4Omn 0000 A/ kg 189 189 189 189
AARJL E_(55400) M1 2 X4 0mn 0000 . ke | Z-3-P>8] Z-3-Po8| B-3-P58| E-10-P65
SAETILF_(55400) M14X40mm 0000 M. kg 192 102 19 192
AARI _(55400) M16X40m 0000 MH./ke 151 151 151 151
AARIE (55400 M20 X4 0mn 0000 [ . ke 152 152 152] 152
AAaFIE_(35400) M2 2 X4 0mn 0000 M. ke 156 156 156 156
AR (S5400) M10X45m 0000 A/ ke 187 - 187 187 187
RAFIVE_(55400) ML2X45mm 0000 M. ke |- B-3-Po8| 2E-3-P58] FE-3-Po8] 2-10-Pb5
kk16_#tH k1% xIs 1/16
S— (B84 P9)

o =4 s

ks . i | - | *¥ I IEIE T SEE [ 7RI [ TATE fis%
ARARI S (55460)° M14X45mm 0000 M/ ke 194 194 194 194
FAATIN T _(55400) M16X45mm 0000 M. ke 151 151] 151 151
AR (S5400) M18X45m 0000 A ke 248 246 246 245
AB/FILE_(55400) M20X45m 0000 A ke 152 152 152 152
AT (53400 M2 2X45m 0000 M ke 156 156 156 156
FARI T (35400) M24X45m 0000 M. kg 16] 161 161 161
AATRIL B (55400) M10X50m 0000 M. ke 185 185 185 185
RATIVE_(55400) M12X50m 0000 P kg | Z-3-P58| B-3-P58| ZE-3-P58| B-10-P65
AAFIL B (33400) M14X50m 0000 ke 193 193 193 193
RATIE_(55400) M16X50m 0000 H/ ke | B3 P58| Z-3-P58| EE-3-Ph8| B-10-P65
AARI E_(S3400) M18X5 0mm D000 M./kg 24 24 24 247
RADIE_(55400) M20X5 Omn 00 F.ke | #-3-P58| &-3-Po8| Z-3-Po8| B-10-
RETIY K_(55400) M2 2 X5 0m F/kg | #-3-P59| #&-3-P59| &-3-Po9| E-10-P
ANARIY K (53400) M24X50mn 00 kg | #8-3-P50| #2-3-P59| #£-3-Pag| @10
AAFIE_(55400) M30X50m 0000 A/ ke 214 214 214 214
AfAFIE(55400) M10X55mm 0000 A/ ke 183 183 183 183
AETIVE_(55400) M12X55m 0000 P ke | E-3-P58| Z-3-P58| EE-3-Pos| B-10-P65
AAFRIE(55400) M14X55m 0000 F./ke 194 194 194 194
AARI L (55400) IM16X55mm 0000 FH./ ke 151 151 151 151
FAFI L (55400) M18X5 5mn 0000 M. kg 246 246 246 246
AATI (55400 M20 X5 5mn 0000 A/ kg 152 152 152 152
AT (55400) M2 2X5 5mn 0000 M kg 157 157 157 157
AEF)N . (55400) M24 X5 5m 0000 A/ke 161 161 161 161
AARN L (55400) M30X55m - 0000 A/ ke 214 214 214 214
AAEN (55400 M10X6 Omn 0000 M/ ke 184 184 184 184] -
AATILE(55400) M12X6 0nn 0000 P/ ke | #E-3-P58| Z-3-P58| RE-9-P58] -10-Pb5[.
7BV (55400 M14X60mn 0000 A/ ke 194 194 194 194
ABTIVE_(55400) M16X60m 0000 P kg | BE-3-P58| 52-3-P58| ZE-3-Ph8| B-10-Ps
AARIL . (35400) M18 X6 0mn 0 M./ke 24 24 246 246
AR (S5400) “IM2 0 X6 0mn 0 H./ke —3-P58| Z-3-Pa8| #-3-P58] 2-10-Pb5
AARIV (55400 M2 2 X6 Omn 0 M/ ke | &-3- $%-3-P50] 2-3-P59] E-10-
RER Y K (55400) M2 4 X6 0an M kg | #-3-P50| &-3-P50] &-3-Poy| Z-10]
ABEFIVE_(55400) M30 X6 0mn 0000 M./ ke 214 214 214 214
AEAIV K (55400) M36X6 0m 0000 FH/ke 238 238 238 238
AATIE_(55400) M10X6 5am 0000 Pt kg 183 183] 183 183
AATIVE (55400 MI12X65mn 0000 P ke | Z-3-P58] Z-3-P58] EE-3-Ph8] E-10-P65
RATIL L (55400) M14X65mn 0000 M/ ke 193 193 193] - 193

kk16_HEHRERIE xis 2/16

178



(B ; /)

o . K] B | mme — R

ik il v | -+ | B IETE T sAIE | TAIE [ AR fia %
ARV T (55400) M16X65m 0000 M./ ke 151 151 151 151
AARIE_(55400) M18X65mm 0000 M./ ke 247 247 247 247
AAFIL B (53400) M2 0 X6 5mn 0000 M./ ke 152 152 152 152
AR B (53400) M2 2 X6 5m 0000 M./ kg 156 156 156 156
AAFR) R (53400) M2 4 X6 5m - 10000 A kg 161 161 161 161
ABRE_(SS400) M30X65m 0000 M kg 714 214 214 214
AR R (55400) M36X65m 0000 P/ ke | - 238 ~ 238 238 238
AARE_(55400) M10X70m 0000 M./ ke 180 180] 180 180
AETILF_(55400) — M12X70m 0000 P ke | E-3-P58] #-3-P58| E-3-Po8| E-10-P65
AT L (55400) M14X70m 0000 P/ kg 194 194 194 194
ANERJE_(55400) M1 6 X700 0000 B ke —3-P58| Z-3-P58| &-3-P58| E-10-P6b
~AR) (S5400) M18X70mm 000 B./ke 24 24 24 246
AR B (SS400) M2 0X70mn - 000 ke | 2-3-P58| #-3-P58| Ee-3-Pog| E2-10-P6
AERJV R (55400) M2 2 X 7 0nn 000 g | 23 P50 £&-3-P50| Z-3-Po0| Z-10-P6
AERILE_(S5400) M2 4 X7 0mn 0 P/ ke | &-3-P59] &-3-P59] $£-3-P59] Z-10-P6
AEFEL (55400 M30X70mm 0000 B/ kg | 214 214 214 214
AATIVE_ (55400 IM36X70mn 0000 M. kg 238 238 238 238
AR T (55400) -~ M10X75m 0000 M. ke 179 179 179 179
AARIE (35400 ML 2 X7 5mm 0000 “|H ke | E-3-P58| 3E-3-P58! #-3-P58| E-10-P65
AAFN B (53400) M14X75m — 0000 M./ ke 194 194 194 194
AR L (55400) M16X75mm 0000 M. ke 151 151 151 151
AATIVE_(55400) M18X75m 0000 M./ kg 246 246 246 246
AARI L (53400) M2 0X75mn 0000 A/ kg 152 152 152 152
AARIL B (53400) M2 2X75m 0000 M. kg 157 157 157 157
AARILE_(55400) M2 4X75mn 0000 M/ke 161 161 161 161
AAFIE_(55400) M30X75mn 0000 BAs/ke | - 214 214 214 214
AARIV L (53400 M36X75mm 0000 M. ke 238 738 238 238
AATRIE_(33400) M10X80mn 0000 P/ kg | #-3-P53| ##-3-P53| #5-3-P53| f-10-P53
RATIF_(55400) M1 2 X8 0mn 0000 —|H ke | 3E-3-P58| E-3-P58| 32-3-Ph8| i2-10-P65
AEFI T (53400) M14X80m 0000 M./ ke 223] . 223 223 223
RATR)E_(35400) M16X80m : 0000 P ke | Z-3-P58| #-3-P58| EE-3-P58| Z-10-P65
AATI R (53400) M18X80m 0000 " M./ke 24 247 _247] 247
ABWIE_SSAD M2 0 X8 0mm 0 kg | $&-3-P58| §2-3-P58| #-3-P58) 10
AERJIY E_(55400) M2 2 X8 0mn 000 [ ke | B-3-Pb)| Z-3-P59] E-3-Ps9| B-]0-P
AEAJL E_(S5400) M2 4 X 8 0mn 10 ke | $2-3-Phd| $2-3-P50| %3 P59| &-10-
AALRIL L (35400) M30X80m 0000 P/ ke 214 214 214 214
AAFR L (55400) M36X80mm 0000 P/kg | .~ 238 238 238 238

kk16_HE{E xIs 3/16
- R T A S P

ik il v | v | P I IETE T SATE 1 7818 [ 11A1E fi%
AATIV L (55400) M4 2X80m 0000 M./ kg 261 261 261 261
A (55400) . M10X8o5mm 0000 H_/kg 226] 226 226] . 226
ARATR)E_(55400) , M1 2 X8 5mn ~ 0000 P kg | B-3-P>8| 2-3-P58| &-3 P58| -10-P65
AR L (58400 M1 4X85mn 0000 M. ke 222 222 222 222
AARI L (55400) M16 X85 0000 M. ke 152 152 152 152
AATI B (35400) M18X85mn 0000 P/ kg 247 247 47 -7
AATRI L (55400) - M2 0X85m » 0000 B/ ke 152] 152 152 152
RAFRI T (55400) M2 2 X8 5mm 0000 ~ |A/ke 156 156 156] 156
AAFRI L (53400 M2 4X85m 0000 A ke 161 161 161 161
AAFRN L _(55400) M30X85m 0000 M/ ke 214 214 214 214
AARIE_(55400) M1 0X9 Omm 0000 ke | #-3-P53| ##-3-P53] #-3-Po3| #i-10-P53
AARIE_(55400) M1 2X90nn 0000 F ke | 2-3-P58| %-3-P>8| #E-3-Pa8| 12-10-P65
AARI . (55400) M1 4X9 0mn 0000 M. ke 223 223 223 223
ARARIY _(55400) M16X90mn {0000 [ ke | #-3-P58| Z-3-Ph8| E-3-P58| Z-10-P6b
ABEFN . (55400) 18X9Omn 000 M. ke | 24 246 246 246
AEAIVE_(55400) 20X90mm 0 kg | FE-3-P58] 3E-3-PoB| FE-3-Po8| FE-10-Pb5
AERIY . (55400) 22X00mn 000 F ke | 2-3-P59] F-3-P50| Hi-3-P50[ Z-[0
RAERIE_(55400) M2 4 X9 0mn 0 B /ke | &-3-P50| §&-3-Pb9| Z2—3-P59| &-10-
AARN L (55400) M30X9 0mn 0000 M./ke 214 204 - 24 214
AABI L (55400) M36 X9 Omn 0000 B/ ke 238 238 238 238]
AARIL  (55400) M4 2X09 Omn 0000 M./ ke 261 261 261 261
AARI L (55400) MI10X100m 0000 Fi/ke | #-3-P53| #-3-P53| #-3-P53| #-10-P53
RARIE_(55400) M1 2X100mn 0000 P kg | 2-3-P58| %£-3-P58] -3 P58| -10-P65
AARIL I (55400) ML14X10Omn 0000 M. ke 223 223 - 223 223
RBEAI T (55400) M16X100mn 0000 ke —3-P58] @#-3-P58] BE-3-P58| B-10-Pb5] .
RARI b (35400) M18X100m 0000 M. ke 24 247 24 247
AERI L (55400) M2 0X100mm ] M ke | #-3-P58| %3 P58l ©&-3-P58| E-10-P65
AARILE_(35400) M2 2X100mm 00 ks | £-3-P59] #-3-P59] 2-3-P50! &2-10-]
ARV E_(55400) M2 4X100m BH.ke | &-3-P59] §-3-P59| Z-3-P59| 22-10-P
AARIE_(55400) M30X10Omn 0000 M kg 214 — 714 214 214
AARI B (55400) M36X100m 0000 M/ ke 238 238 238 238
AARI L (55400) ~ |M42X100m 0000 FH/kg 261 761 261 261
AEFI L (SSA00) M48X100Omm 0000 P1/ke 285 785 285 285
AN (55400) M10X11O0m 0000 P/ ke | #%-3-P53] ##-3-P53| #5-3-P53] #&-10-P53
AARI L (55400) M12X110m 0000 P ke | ##-3-P53| ##-3-P53| #-3-P53| #&-10-P53
AARN . (55400) M14X110pm 0000 11 /ke 223 223 223 223
AATIE_(55400) MI6X110mm 0000 M ke | E-3-P58] E-3-Ph8| E-3-P58] B-10-P65

- i kk16_ M S {5 s 4/16



(B ff - /)

B o BRT Bl T gy

EX
, 3¢ | 3b 1818 [ 8AIE | 7AIE [ 11AIA %
AARI b (55400) M18X110m 0000 M./ kg 247 247 247 247
AATIVE_(55400) M20X110m 0000 P/ kg | B-3-P58] #-3-P58| E-3-Pb8| EE-10-P65
AERIE(S5400) M22X110m 0000 M/ ke 156 156 156 156
AERIL S (55400) M24X110m 0000 H kg 161 161 161 161
A b (55400 IM30X110mn ' 0000 M./ ke 214 214 214 214
AATRIE (55400) M36X110m 0000 B/ ke 238 238 238 238
AARIE (55400) M42X110m 0000 M. ke 261 261 261 261
AATILE (55400 M48X110mn 0000 M. ke 285 285 285 285
AR (S5400) M1OX120m 0000 P ke | #i-3-P53] #5-3-P53] IA-3-P53| BA-10-P53
RATIV K (55400) M12X120m 0000 ke | #5-3-P53] #5-3-P3| 4&-3-Pb3| HE-10-P53
AARILE_(55400) N M14X120m 0000 M. kg 223 223 223 223
AATIVE_(55400) MI16X120m {0000 H_ ke | E-3-P58 B -3-Pb8| Z-3-Ph8| E-10-P65
AARI B (85400) M18X120m 000 b ke 24 24 247 247
ANARIYF_(55400) 20X120m 000 ke | E-3-P58] E-3-P58] E-3-P58| 2-10-
AR (55400 22X120m 000 g | #=-3-Ph9| #@-3-P50 §E-3-P50| £Z-]0-P
AARIL F_(55400) 24X120m 0 A/ kg | #-3-Ph9| $2-3-Po9] &-3-P59| &2-10-]
AAFRI L (55400) M30X120mm 0000 M/ ke 214 214 214 214
AARILE (55400) M36X120m 0000 M. kg 238 238 238 238
AARIL (85400 ’ M4 2X1 2 0m 0000 M.k | 261 261 261 261
AARI L (55400) M48X120m 0000 M. kg 285 285 285 285
AAFRI L (55400) M10X130m 0000 FH. ke | #-3-P53] #8-3-P53| #&-3-P53| #&-10-P53
AAFL L (55400) M12X130m 0000 B/ kg | #-3-P53| #&-3-P53] ##-3-P53| $&-10-P53
AARI B (55400) M14X130m 0000 M./ ke 223 223 223 223
ABTIVE_(SS400) MIG6X130mn 0000 — 1M 7ke | B-3-P58| ZE-3-P58| RE-3-P58| E-10-P65
AARIL B _(55400) M18X130mm 0000 M. ke 247 247 241 247
RETRIF_(55400) M20X130m 0000 H kg | B-3-P58] ZE-9-Po8| B-3-P58| FE-10-Pb5
AERIL L (55400) M22X130m 0000 1M ke 156 156 156] 156
AAEFILE_(55400) M24X130m 0000 M/ ke 161 161 161 161
AARI L (55400) M30X130m 0000 B ke 214 214 214] 214
AARI T (S5400) M36X130m 0000 M/ ke 237 237 . 237 237
AARI - (S5400) M4 2X130m “]0000 M/ke 261 261 261 261
AR b (S5400) M48X130m 0000 P/ ke 285 285 285 285
ATV K (SS400) M10X140mm 0000 M ke | #%-3-P53| #8-3-P53| #5-3-P53|HE-10-P53
AATIVE_(55400) M1 2X14 0m 0000 B ke | #a-3-P53] #a-3-P53| #R-3-Pba| #a-10-P53
AARIE_(85400) M14X140m 0000 H kg | 2% 222 222 222
REFRIVE_(55400) : MI16X140m 0000 PI ke | #2-3-P58] 32-3-P58| &-3-P58| B-10-P65
AARI L (55400 M18X140m 0000 M. ke 246 246 246 246
kk16_#8H 5% .xIs 5/16
— : (848 ; [)
ikl ik -y | av | Y I IETE T SATE | TAIE [ TIATH ia%
AARILE_(55400) M2 0X140m 0000 _|M7ke_|_32-3-P58] #2-3-P58] k= 3-P58| &2-10-P65
AATIVE_(55400) M22X140m ] 0000 M. ke 157 157 157 157
AARIL L (55400) M24X140m _|6000 H kg 161 161 161 161
AATI b (5S40 M30X140m 0000 A ke | 214 214 214 214
AATINE_(SS400) M36X140m 0000 M./ kg 237] - 237 237 237
AARN b+ (S3400) ~ M42X140m 0000]. M/ ke 261 261 261 261
AARIE_(S5400) M48X140m 0000 M./ ke 285 285 285 285
AR ($5400) " IM10X150m 0000 F.ke | #-3-P53] #5-3-P53] #&-3-P53| $-10-P53
RETIE_(55400) MI2X150m 0000 P ke | $5-3-P53] #5-3-P53] #-3-P53| $5-10-P53
AATI L (55400) M14X150m ‘ 0000 A ke 223 223 223 223
AETIVE_(5S400) MI16X150m ' 0000 kg | E-3-Pb8] &-3-Po8| EE—3-P58| B-10-P65
AR b (55400) M18X150m 0000 M. ke 24 247 24 247
AATIV R (554000 M2 0X150mm 00 M. ke | #-3-Po8| @-3-Po8| 72-3-PB| E-10-P65
AR E (53400) M22X150m 0000 g | #-3-P59] E-3-P50] Z-3-P50] &E-10-
AAERI (55400 M2 4X150m 00 A ke | $2-3-Po9| #E-3-Pod| 32-3-P50] &-10-P
ABABIL (55400 M30X150m 0000 MH.kg 214 214 214 214
AARI (5400 M36X150m 0000 M. ke 238 238 238 238
AFRN L (55400) M42X150m 0000 B ke _ 261 261 261 261
ALk (55400) M4 8X15 0mn 0000 M. kg 285 285 285 285
AARN T (55400) M10X160m 0000 M./ kg 226 226 226 226
AABI (5400 ' M12X160m 0000 M. ke 228 228 228 228
AR (35400) ' M14X160m 0000 M. kg 223 223 223 293
AARN N (55400) M16X160mn . 0000 M ke 199 199 199[° 199
AAFRIVE (55400) M18X160m ' 0000 M./ ke 218 218 218 218
AARI L (55400) _ [M20X160m - 10000 M/ ke 199 199 199 199
AT E_(SS400) M2 2X16 0mn 0000 |- M./ kg 204 204 204 204
AATVE (SS400) M24X160mm 0000 M. ke 214 214 214 214
- REFIL T (35400) M30X160m 0000 Mk |~ 214 214 214 214
7 AF L L (55400) M36X160mm 0000 M/ ke 238 238 238] 238
FAAFRIN b (55400) M42X160mm . 0000 P ke 261] 261 261 261
SARN L ($5400) M48X16 0mn 0000 M./ kg 285 285 285 285
AfAMI L ($5400) M10X170m - 0000 Hke | 224 224 224 224
AR L (55400) M12X170m 0000 M./ ke 227 227 221 201
ARARI T (55400)- M14X170mm 0000 M./ ke 223 223 223 223
AFEPIN (55400  IM16X170m 0000 M. ke 199 199 199 199
AARN T ($5400) M18X170m 0000 M/ ke 218 218 218 218
7<AXIN I (55400) M20X170m 0000 M./ks 199 199 199 199

kk16_H#HER{E.xIs 6/16



(Bff . P9)

o , B Em | g ER
- B il =+ | -+ | * ETE T sAIE [ TAIE [ TIAIE L
AFFIL L (S5400) M22X170m 0000 M. ke 204 204 204 204
AAFI L (5400 M24X170m " 0000 M/ ke 214 214 214]° 714
ABRIL L (55400) M30X170m 0000 F. ke 214 214 214 714
AAR)Y (55400 M36X170m 0000 H./kg 238 238 238 238
AAR)L L (55400) M42X170m 0000 M ke 261 261 261 261
AARN (55400 M48X170m 0000 . ke 285 285 285 285
AATIL L_(55400) M10X18O0m 0000 H.ke 275 275 225 225
AAFI bk (55400) M12X180mm _ 0000 M ke 228 228 228 228
AEFR)L (55400 M14X180m 0000 . ks 223 223]- 293 223
ABRIVE_(55400) M16X180mm 0000 B kg 199 199 199 199
AARI - (55400) M18X18O0m 10000 1. ke 21 21 218 2]
AAN)V F(55400) M20X180m D [ ke | #8-3-Pb3| #@—3-Poa| -Fe-3-Poa| k-10-Ps
ARADRIE_(55400) M22X180m g | 4B-3-Pod| #m-3-Pad| 4B-3-Pod| 15~ 10-P5d
AR~ (55400) M2 4X180m kg | Hi-3-P4| Hi-3-Pod —3-P54] 35-10-P54
AFERIV L (55400 M30X180m 0000 ./ ke 214 214 214 214
AEFIVE_(55400) M36X180m 0000] M. ke 238 238 938l . 938
AARIV bk _(55400) M42X180m 0000 FH. ke 261 261 261 261
AARI N _(55400) M48X180m 0000 M/ ke 285 285 285 285
AARIL E_(55400) M10X10Omm 0000 M. ke 226 226 226 226
AERI b (55400) M12X1090mn 0000 M ke 228 228 228 228
AT K (58400) M14X100m 0000 . ke 223 223 223 223
AAFIE_(55400) - M16x190m 0000 M. ke 199 199 199 199
AAAEIL E(55400) MI18X190m 0000 M. ke 218 218 218 218
A&ERIL +_(55400) M20X190m 0000 ke 199 199] 199 199
AATI R (55400 M22X100m 0000 A/ ke | 204 204 204 204
AAFIY K (55400) M24X190m 0000 M. ke 214 214 214 214
AAFIV L (55400) M30X190m 0000 M ke 214 214 214 214
AAFXN . (55400) M36X190mm 0000 A/ ke 238 238] 238 238
AAFIL L (55400) ~ IM42X190m 0000 M. ke 261 261 261 261
AARIL - (S5400) M48X190m 0000 M. ke 285] 285 285 285
AARN (35400 M10X20Oms 0000 F. ke 226 226 226 276
AABERI L (55400) M12X200mm 0000 M. ks 228 228 228 228
AAF)L L _(55400) M14xX200m 0000 ./ ke 223 223 223 223
AR L (55400) M16X200m 0000 P ke | #-3-P53| #A-3-Pb3| H-3-P53| Ai-10-P53
SARL L ($5400) - MI8xX200m 0000 M. ke 21 218] 21 21
AERIVE_(35400) M20X200mn 0000 ks | %5-3-Pbo3| 3B-3-P53| #&-3-P53| B-10-P5
AERIVE_(35400) M22X200mm 0000 H_ kg | #4-3-Pbd| 3&-3-P54| #E-3-P54| 35-10-P54
’ kk16_HiR s {5 xIs 7/16
N — - (B4 : /)
o = N
Y i v | o | B amve T eETe T mie oA | W
RARI (53400 M2 4X200m 0000 M/ ke | #i-3-Pbd| I8-3-Pod| 3H-3-P54| $5-10-P54
F<ERIVE_(55400) M30X200mm 10000 M./ ke 214 214 214 214
AAFIL L (55400) M36x200mm - |0000 M. ke 238 238 238 238
AAXIE_(55400) M42X200mn 0000 M ke | 261 261 261 261
AAFIL (55400 M48X200m 0000 F/kg 285 285 285 285].
AAFIV T (55400) M42X220m 0000 M. ke 261 261 261 261
ARAFI T (554000 M48X220m 0000 M. ke 285] 285 285 285
AARI T (55400) M4 2X24 0mn 0000 M. ke 26] 261 261 261
~ARATN L (S5400) M4 8 X240m —_|00oo M ke 285 285 285 285
AARI T (55400) M42X260m 0000 M. ke 261 261 261 261
ABEIL L (55400) M48X260m 0000 M. ke 285 285 285 285
AREFIVE_(55400) M42X280m 0000 M. ke 261 261 261 261
AT (55400) M48X280mm 0000 M./ ke 285 285 285 285
AAF)V F(55400) M4 2X300m 0000 H./ke 261 261 261 261
AR+ (55400) M4 8X300m 0000 M. ke 285 285 285 285
AATIVE_(SUS304) M8 X2 0m - 0000 M. ke 706 706 706 706
AAR T (SUS304) M10X20m 0000 P9/ ke | 3-3-P61] #-3-P61| %-3-P61| s 10-P68
ARV~ (SUS304) M12X20m 0000 M./ ke 713 713 713 713
AR E_(505304) M8 X 2 5 0000 P1/ke 707 707 707 707
AARIVE_(SUS304) M10X25mm 0000 P ke | #-3-P61] #-3-P61| E-3-P61| #-10-P68
AEF)V E_(SUS304) M12X25mm 0000 |- M ke 711 711 711 711
AEFIVE_(SUS304) M16X25mm 0000 M ke 664 664 664 664
AAFRIL L (SUS304) M8 X3 0mn , 0000 P ke 712 712 712 712
AARL L (SU5304) M10X30m 0000 M. ke | $-3-P61| #-3-P61| i-3-P61| Z-10-P68
AATI L (SUS304) ML2X30mm 0000 P ke | #-3-P61| 3-3-P61| 3-3-P61| &-10-P68
AAEFIV L (SUS304) M16X30m 0000 A/ ke 664 664 664 664
AARI_(SUS304) M8 X 3 5mm 0000 M. ke 709 709 709 709
AARN I (SUS304) M10X35m 0000 H ke | #@-3-P61] 2-3-P61| #-3-P61| 3E-10-P68
AAETRIL L (SUS304) . M12X35m 0000 P ke | #-3-P61] 3-3-P61| %:-3-P61| &-10-P68
ABEFIVE (SUS304) M16X35mm 0000 M ke 665 665 665 665
AAETIVE_(SU5304) M8 X 4 0nn 0000 M./ ke 709 709 709 708
AEFIVE_(SUS304) k M10X40mm 0000 F/ke | 32-3-P61| 3E-3-P§1| %=-3-P1| &2-10-P68
ABFI T (505304 M12X40m 0000 Pl ke | #-3-P61| :-3-Ph1| 3£-3-P61| 1-10-P63
AARL L _(SUS304) ‘ M16xX40m 0060 H./ke 664 664 664] 664
AATIE_(SU5304) M20X40nm 0000 M. ke 711 111 711 71
AARIE (SUS304) (M8 X4 5mn 0000 M/ ke 708 708 708 708
kk16_HH 5% fi.xIs 8/16

181



(B4 : M)

o WK &2im - EK
ks i | v | B T IRTE TSATE | 7AIE [ A1 ki
RETIL - (SUS300) M10X45m 0000 i ke | #-3-P6i| #-3-P61| #-3-P61| - 10-P68
ALk (5US304) M12X45m 0000 1Mk | #-3-p6I] B-3-P61] #-3-P6l| &@-10-P63
AL F(SUS304) TM16%45mm 0000 ks | #-3P61] -3-P61| E-3-P61| E-10-P68
AE AL L (SUS304) M20X45m 0000 A ke 05 105 705 705
RETIF(SUS304) M8 X 5008 0000 A/ ke 71l 7l Gl Til
AEEIF(SUS304) M10X50m 0000 A ke I T2 T2 T
AAL E_(SUS304) M1 2X50m 0000 M ks | BE-3P61| B-3-P61] E-3-P61| E-10-P68
AATL L (SU5304) —M16X50m 0000] . |F ke | #-3-P61| #-3Pel| #-3-P6l| E-10-P68
AERLF (5U5304) M20X50m 10000 A ke 708 108 T08] 708
RETIL R (5US304) M8 X5 5m ~J0000. 1A ke 710 710 710 o
AEAL L (SUS304) M1 OX55m 0000 A/ ke I 712 T2 I
I SI) M12X55m 0000 . ke | E-3-P6l| H-3-P61| E-3-P6i] E-10-768
AAFIL - (SUS304) M16X55m 0000 ke | #-3-P6i| B-3-P6l| E-3-P61] &2-10-P68
ABTIL E(5U5304) M2 0X55m 0000 A/ ke 050 705 705 105
“RATL F (S05304) M8 X 6 0mm. 0000 ke il 7 11l 71
AATLE (SU5304) M10X60m 0000 ke TI0 710 Ti0 Tio
REATILF (SUS304) M12X60m 0000 i ke | E-3-P61] E-3-Pal| E-3-P61| E-10-P68
AATL T (5US304) M16X60m 0000 kg | - 3-p6I] B-3-P61] 2-3-P61| &-10-P68
REEI - (SUS304) M2 0X60m 0000 kg | #-3-P6I| ®-3-P61] m-3-P61| -10-P68
AAIL T (5US304) M8 X6 5m 0000 M. ke 710 Gl 710 710
AATIL L (5US304) M10X65m 0000 A/ ke U T 711 T
AEE) F_(5US304) M12X65m 0000 ke | @-3-P61| E-3P61] #-3-P6l] E-10-P68
AATILE_(SUS304) M16X65m 0000 ke | #-3-P6i| #-3-P6l| -3-P6l| 2-10-P68
RARIL - (SUS304) M2 0X65m ‘ 0000 1A ke | #-3-P61] s-3-Pg1| 2-3-P6l| 2-10-P68
AEIL (SUS304) M8 X7 0 0000 ke 12 112 Tl 112
AETL F_(5US304) M10X70mm 0000 A ke 7 D) 102 Ti2
REEIL F(SUS304) IMi2x70m 0000 A/ ke Ti2 712 0 Ti2
AEEIL R (SUS304) M16X70mm 0000] ke | B-5-P61] B3-P61] - 3-P61| E-10-P68
KAk (SUS304) M2 0X 7 Omp 0000 kg | #-3-P61| #-3-P4l| H-3-P61] -10-P68
AATR)LE (SUS304) M8 X 7 5mm 0000 A ke ol 710 710 710
AETIL - (S304) M10X7 500 0000 A ke 712 Ti2 i i
AEAL - (SU5304) M1ZX75m 0000 B/ke 10 i 0 Ti2
AETILF_(SUS304) M16X75m 0000 A/ ke 563 63 563 563
REL - (SUS304) M2 0X75m o000 ke | E-3-P61| #-3-P61| #-3-P61| E-10-P68
AEL T (SU5304) M8 X 8 0m 0000 A/ ke 710 710 710 710
RATIL T (SUS304) Mi0x80m 0000 A/ ke il T 7il T
kk16_BHEER % xIs 9/16
A o (B4 : [)
. & ik v | oy | P T IETE T eRIE | TATE T 1AIE fi%
RATIL T (505300 M12X80m 0000 Bk 2 112 A )
AERIL T (SUS304) M1 6 X8 0mm 0000 IR ke 661 61 661 661
AETIL F_(SU5304) M2 0X80m 0000 A/ ke 710 710 710 710
AEAIL b (SUS304) M10X85m 0000 A/ ke 710 Tl Ti0 Tio
AAtL T (5US304) M12X85m 0000 M/ ke Ti2 Tl 712 712
AEAL R (SUS300) . |M16X85m 0000 ke 663 663 663 563
AEAUL - (SUS304) M20X85m 0000 B/ ke 710 710 710 710
AERIL F(SUS304) M8 X9 0am o000 A/ ke TI2 Ti2 712 712
AEL L (SUS304) M10X9 00 0000 ke il T 71 T
ABL - (5US304) M12X90m 0000 A/ ke Ti2 el 112 T2
AEIL T (SUS304) M16X90m 0000 A/ ke 659 559 559 650
AETLF (SU5304) M20X90m {0000 Fl ke 710 710 710 710
AL T (SU5304) M8X100m 0000 A ke Til Tl 7Ll 7Ll
AEF - (SUS304) M10X10 0 0000 A ke Tl Tl 711
RATIL - (S5304) M12X100m 0000 M ke Ti2 Tl 712 Ti2
AATIL L (SUS304) M16x100m 0000 A ke 563 563 £63 563
AETRIL R (SUS304) M2 0X 10 Om 1000 A ke 709 709 709 700
WAL - (SUS304) M10X35m 0000 A/ ke T670] 1670 L670] 1670
WAL~ (SUS304) “Mizx35m 0000 M ks | 2000 2.000] 2000 2000
AL F_(SUS304) M16X35mm. 0000 M ke | 2100 2100 2 100 2 100
AL - (5US304) M10X40m 0000 A./ke 1610 1610] 1610|1610
ML F(SUS304) M12X40m 0000 A/ke 17860] __1.860] 1860 1880
WAL F (505304) M16X40m 0000 A/ke 1 940] 1040 1.940] 1940
WAL F_(SUS304) M10X45mm 0000 A ke 1530 1.530] 1530|1530
WAL - (50S304) M12X45m 0000 B ke 1 880[ 1.880] 1880 1. 880
MRk (SUS309) ~IM16x45m 0000 P ke | 1940 1.940]  1.940] 1.0d0]
WAL - (SUS304) M10X50m 0000 A/ ke 1 500f 1500 1.500] 1500
MAUL - (505304) T IM12Xx50m 0000 A ke | 1800] 1800 __1.800] 1 800]
o)Lk (50S304) M16X50mm 0000 F/ke 1800 1.890] 1. 890] 1890
AL F (SUS304) M10X55mm 0000 A/ ke L 640[ 1640 1640 1640
MR E (SUS308) M12X55m 0000 F./ke 1800 1800 18%0] 1890
WAL - (SUS304) M16X55mm 0000 F/ke 19200 1920 1920 1 920
ML b (S05304) M1OX60m 00001 A/ ke 1500 1.500] 1590 1500
IR - (SUS304) M12X60m 0000 A ke 1 800[ 1,800 1800 1. 800
MRk (S05304) M16X60m 0000 M ke | 1830] 1.830] _ 1.830] 1830
WAL B (SUS304) M10X65m 0000 A/ ke T 560 1560 1560|560

kk16_#i 5% 6 xls io_/us
182



(B4 1)

o WX B R
@BE B v ) -+ | ¥ I TETH TeRATE [ THIE [ 1AIE %
WAL - (515300 M12X65m 0000 A/ 17i0] Li70] 1770 L7110
L b (SUS304) M16X65m 0000 Pl ke | 1.820]  1.820] 1 820] 1820
WALk (SUS304) M10X70mm 0000 A ke 1540] 1540 1.540] 1540
AL R (5US304) M12x70mm 0000 18 ke 1790 11905790 1790
HLAL K (SUS304) M16X70m 0000 A ke LTl o] L7i0] 170
WAL F_(SUS304) M10X75m 0000 A/ ke 1550] _ 1.550] _1.550] _1.550
ML F(SUS304) M12X75m 0000 A/ ke 17000 1.700] L 700 1700
AL F_(SUS304) M16X75m 0000 A/ ke 720 1720] 720 1720
WAL R (SUS304) M12X80m 0000 A ke 1650 1.650] 1650 1650
AL F (5US304) M1 6X80m 0000 A/ ke L7101 70l 7101710
Tk (55400) M8 0000 A/ ke 202 202 202 02
T F_(55400) M10 0000 A/ke 203 203 203 203
Fo (554000 M12 0000 A/ke 206 206 206 206
Fo k_(55400) M14 0000 F/ke 198 108 198 198
T o F_(55400) M16 0000 A/ ke 162 162 162 162
F v k_(55400) M18 10000 A/ ke 920 220 220 220
F v F_(55400) M20 0000 T 169 169 169 169
F T (55400) M2 2 0000 A ke 176 176 176 176
“F F_(55400) M2 4 0000 F/ke 226 06 726 276
F o F_(55400) M30 0000 F/ke 246 246 246 246
Tk (55400) - M36 0000 A/ke 260 260 260 260
F o F_(55400) M4 2 0000 A ke 347 347 347 347
ok (55400) M4 8 0000 A/ke | 312 372 312 30
F o b (505304) M8 0000] _ [M ke 847 847 841 847
F ok (SUS304) M10 ‘ 0000 M/ ke 1008 1.008] __1.008] 1008
Ty T (SUS30d) —IM12 0000 A ke 1084 L o0s4] 1084 1084
F v F_(SUS304) M14 0000 A ke 1388 1.388] _).388] 1 388
F o k(505304 M16 0000 A/ ke 005 905 905 905
F o F_(SUS304) M18 » 0000 ke T 383 1382 1.382] 1382
Tk (505304) M2 0 0000 A ke ] I X I
o F_(SUS304) M2 2 0000 A ke 1550 1559 1.559] I 550
F o+ (5US304) M2 4 0000 A/ ke L401]  1490] 1491 1491
T F_(5US304) ' M2 7 ' 0000 A/ ke 1 480] 1. 480] 1.489] 1 489
F o k_(SUS304) M30 0000 A/ ke 1486|1486 1.486] 1 486
F o F(505304) M36 0000 A/ ke 1578 1573 L513 1513
F o T (SUS308) M4 2 0000 A ke 1541 1541 1541 L54)
kk16_t#k Rfmxls 11/16
S ‘ - (8448 : )
ja - 3 ”
i - B E ol S O O -1 Y = A = T s
By v~ (55400) M8 0008 Ak FEy] I 431 431
B T (55400) M10 0000 A/ke 380] 380 380 380
B - (55400) M1z 0000 Ak 387 387 387 387
7 v b (55400) M14 0000 A/ ke 593 593 503 503
55 F_(55400) M16 0000 A/ ke 455 455] 45| ds5
B F_(55400) 7 M20 0000 A/ ke 583 583 583 583
S F_(55400) M2 2 0000 A/ ke 621 621 621 621
57 b (55400) M2 4 0000 A ke 782 182 182 18
BF 5T _(55400) M2 7 0000 A ks 966 966 966] 966
By k(505309 M8 0000 A/ke | 2.a4d]  T44d] 2 44|  7.4dd
B F_(S05304) M10 0000 A ke | 2423 2423 2.428] 2. 423
BF L (505304) M12 0000 A/ke | 2400 2.401] 2401 2 40]
&7 k(SUS304) M14 0000] A ke | 3074 3.014] 5074 3074
7 F_(SUS304) M16 0000 M/ ke | 2658 2658 2. 658] 2 658
%79 F_(SU5304). M20 0000 A ke | 2.848] 2 848 2.848] 2 848
%7 T (SUS304) — M24 0000 A ke | 2.789] 2789 2780 2789
) BT k. (55400) M12X160m 7000 A/ ke 352 352 352 350
TR, F(55400) M16X160mm 0000 A/ke 252 259 252 252
TREETL ~ (55400) M12X200m 0000 A/ ke 313 313 313 313
TEBTIL - (55400) M16X200m T [0000 A/ke 296 226 226 226
I BEBTRIL - (55400) M2 0X200m 0000 A/ ke 258 258 258 258
TREBTIL - (55400) M12X250m 0000 A ke 319 319 319 319
T BRI, - (55400) M16X250m 0000 A ke 210 210 210 210
TBERRL F (55400) M2 0X250m 0000 A ke 242 2 242 242
T REBL - (55400) M12X316m 0000 A ke 304 304 304 304
TEERTLE (54000 [M16X315m 0000 A/ ke 200 200 200 200
THERTIL L (55400) M2 0X315m 0000 ke 228 228 228 28
TR, - (55400) M12X400mm 0000 A ke 216 276 26 216
T BB F (55400) M16X400mm 000 |8 ke 192 192 192 192
T BEETIL F (55400) M2 0 %4005 0000 Fi/ke 214 214 204 2id
T BEBAL ~_(55400) M12X500m 0000 B ke | 24 264 264 %4
T HEBAEIL - (55400) M16X500m 0000 B/ ke 182 182 T ST
TEEBAIL F_(55400) M20X500m 0000 A ke 203 203] 203 203
T BEGAL ~_(55400) M2 4 %50 0mm 0000 M/ ke 202 202 202 202
TR ERAIL F (55400) M2 0X630mm 0000] ___ |M ke 203203 203 203
THEBTIL L (55400) M2 4%6230m 0000 A/ ke 205 205 205 205

kk16_ M sk {H.xIs 12/16
183



(B4 : F)

184

=] ﬂ”z- ET[E Yy
ik kil v | v | P IETE T sATE | 7AIA IIHIEI Lk
T BERAIL (55400 MZO0X800m 0000 A/ke 192 192 192 192
T HERAL F_(55400) M24X800m 0000 F/ke 184 194 194 194
T BERAL F_(55400) M20X1, 000m 0000 B/ke 188 188 188 188
T BRI F_(55400) M24X1. 000m 0000 A/kg 185 185 185 185
T HERTIL F_(55400) IM24x1. 250m 0000 H/ke 188 188 188 188
LEERTIL - (55400 M12X160m 0000 A/ke 374 374 374 374
LEBEIL (55400 M12X200m 3000 A/ ke 331 331 331 331
L ERAL F_(55400) M16X200m 0000 A/ ke 254 254 254 254
LEERTIL L (55400) M12X250m 0000 A ke 295 295 205 295
LBEETIL k. (55400) M16X250m 0000 Al ke 295 235 295 25
LRV - (55400) M12X315mm 0000 A/ke 974 974 214 974
LEEBTL - (55400 M16X315m 0000 A./ke 216 216 218 21|
LBERETL b (55400) M20X315m. 0000 A /ke 230 220 220 220
LEEETRIL L (55400 M12X400m 0000 A/ke 259 259 259 259
LEERTIL L (55400) M16X400m 0000 A/ke 205 205] 205 205
LBERTIL - (55400) MZ0X400m 0000 B /ke 210 210 210 210
LEERFI T (55400) M1 2X500m 0000 A/ ke 236 7336 236 236
LIEB T, - _(55400) M16X500m 0000 A ke 189 189 189 189
LEEBTI - (55400 M20X500m 0000 B ke 197 197 107 197
2) &8 - &% - &T]Aﬁﬁ_%%
Fo—5— ¢ 110~120 R RERR_SCI50 0000 F/ke B0 510 510 510
ESLeT— EEBEWE 54500000 A/ ke 610 610 510 510
FEET— (F—Lf) RRBHEBS 5450 0000 A/ ke 610 610 510 610
FO—5—110~120 B0 YB%BE  SCHnZB 0000 B/ke 700 700 700 700
Fo—5—o110~120 WX Sy iMMBE S SCUNCI3B_ 0000 A/ ke 805 805 805 805
FO— 5= 110~120 Juke)7 7 VESESE,  SCCIN3B_[0000 A/ke 705 705 705 705
25 A LZXZ DA EEEY PRC —Joo0o A/ke 2,300 2.300] _ 2.300] 2300
WE AL ), - WEIXZ )V WERED 1503 0000 ke 2.000] 2,000 2.000] 2000
WS A5 )L - WEIA L)L E55EY B 3 0000 A ke 2.000] __2.000] __2.000] 2000
BMEEARE, BE BT sEGS 200 0000 A ke 530 530 530 530
BE R 5SS F050 0000 A/ ke 530 530 530 530
R T hESE  FC250 0000 A ke 530 530 530 530
BEASE HORESESE  FCDI50 0000 A ke 935 035] __o3% 935
¥R S DTaEGs (48  F250 0000 /e 599 599] 599 599
59 TR T hee (AF) _ FC250 [0000 B./ke 665 565 565 665
“GAE R ) T ases (am)  FC250 [0000 A/ ke 833 823 823 823
kk16_#4 B8 fF xIs 13/16
S (B4 : )
o B A .
ik i v | av | % IATH TeRIE | TAIE [ 1IEIE fii%
HHE HRAEMNEELS (1 7))  FCD400 - 450(0000 - M/ ke 9217 9217 927 927
PREA REBEBE S50 0000 A ke | 3060 3060 _ 3.060] _ 3.060
Ny TN T REBBEBEE S(450 0000 A /ke 1oo0l1.p90]  1.290] 1290
S#o7 G171 - o) [AIBH bty 0000 M/m3] 155000 151 000] 15L 000] 151,000
T PR, REE, i NEEF AN ORI , ’
2 RIS UL L & B OME B &5 5.
RO EMIMIE TS, -
(3D ZT/ L2831k - AER 5@#&%&%&%@1‘3 '
(AR I ~ Ak |SU530d 7= t =3 7000 M ke | B3P B3P0 B3 Ta[E-10-P4T
S M) Al N M [SUS304 < t =6 3000 ke | T-3-P38| -3-F38| R-3-P38| & -10-P47
B AR IV RE TIASELSUS304 6< t <14 0000 A/ke 10 0 T 10jx 2 3< L=6
B (M) EREGOVURE a1 |SUS30d4 14< t <25 0000 A/ke 20 20 20 201 3< 1 =6
BEL (AR EEGA AR TiatsE|SUS304 25< t =40 0000 A/ ke 30 30 30 30[v 2 _3< L6
B (AR 5oV iksEr|SUS304_ 40< t <65 0000 A/ke 40 40 40 S0 2 3<i=6
PN | R SUS304 =6 =100 0000 A ke | EE-3-P43| E-3-P43| B3P E-10-P40
A7 oV A TIALE SUS304_100< S =150 0000 ke | 20 20 2 Wi B=e=m
A5 oL RBE_BALE SUS304 150< ¢ =200 0000 A /ke 2 20 20 W BEozin
ATV R~ -Miits SUS403_25< 6 =100 0000 A/ke 130 330 330 380
AT o\ ABE_ 1ALk SUS403__100< ¢ =150 0000 A/ke 2 20 20 Wh 2 BEesm
Ao L AGHE TEAE|SUS403 150< ¢ <200 0000 A/ke 20 50 20 W Bzosin
ER TN~ E[SI50~3500 5= 6 =100 0000 A 7% | BE-3-pi3| E-3-P43 B3 D43 10740
TR R R BT TIAREL [S150~S500 100< =150 {0000 A/ ke 7 9 o[ g mEesm
b e R WM TEAS L 1S150~S50C 150= ¢ =200 0000 A/ ke s s i i o0
T e R B TEANSEL [SI5C~S50C_ 200< b =250 0000 A ke 5 5 5 6w 1 mso=inn
TS s RS TEASEL [S150~S500_250< 6 =300 10000 B/ ke 8 g g 8lv 1 B=o=i0
) 1L Q) ORMEA—AMBCHD, REAEMIIT 50T, HEEBROAY 5y JEIRBER> L,
2 Q0 [HEBHBMRBSC50) DRMIC DOV TIZINEA 6 300 F T, BTHEA B/ D DI DN TIE
(3) TEEIRAHS S B SR S15C~S50C) DEREERT 5,
(4) k&EIA ) ' ‘
KETL (PIBE e 0000 ke 3.860]  3.860] __3.860] __3.860
KET L (P BZ) 20~50 0000 ke 3,860 3.860] 3860 3,860
KETL (PBLE) 50~10 0000 ke 3.860]  3.860] 3860 3,860
KETL (PH) 20K 0000 ke 73,860 3.860 __3.860] 3,860
KETL (B 950~50 0000 ke 3.860] _ 3.860] __3.860] __3.860
KETL (PF) 50<10 0000 ke 3.860] _3.860] 3,860 3 860
TN e 0000 ke 3,860] 3860|3860 3,860
KETL (L) 20~50 0000 ke 3. 860]  3.860] 3860 3,860 .
kk16_ 1545 5% {5 xIs 14/16




(B4 ; F9)

: WX Bim . } IR ]
ik il wv] v | B T TEETE [ A [ e fkid
KETL (L) —[5o~10 0000 ke 3.860]  3.860] __ 3.860] 3, 860]
KETL (EF) 105 —Joo00 ke 57500 3 750[ 3,750 3750
KED b () 10~30 0000 ke 3750 3.750] _3.750] 3 750

) - LRABEILOBRMEIL, FelkOBa Chd.
. REARIL (O SL—2%)

SREf : 14. TN /mn2 (150ke/cm2) BAL

KAkE : BRI TEAN%

BRSO TN - 300% LA =
. WREE : ¥ 3 THEEE40~380

HE ;[ 25g /cmd

(5) Ny*> (BRIA)

3,790 3. 790 3,790 3,790

NoFr (BERIL) 600 - 108k - 0000 B8
NoFy (BRIL) 600 104 ~204 0000 EPLS 3,430 3,430 3,430 3,430
NoFr (BEITAL) 700 - 108k 0000 i 5,230 5,230 5. 230 5,230
NyF> (GRIL) 700 104%~2080 - . 0000 M/ 4,500 4 500 4,500 4,500
NyFr (BRIL) 800__108CK# 0000 MK 7,920 7,920 1. 920 7,920
NRoFy (GRIAL) 800 104~20% 0000 M8 7,200 7,200f - 7,200 7.200
NRyF* (BHRIL) 900, 108CKH 0000 M8 9, 000 9,000 9,000 9,000
NyF (HERIL) 900 104~204% ~_10000 B/ 8,110 8110 8 110 8 110
Ny¥r (HRIL) 1,000 10BCKE 0000 R/K 9,910 9,910 9,910 9.910
NyF> (BRIL) 11,000 104k~204 0000 : M3 9,000 9,000 9, 000 9,000
NoF (BRIH) 1,100 108k 0000 H8 10, 800 10, 800 10, 800 10. 800| -
NoFr (HRIL) 1,100 10M~208 0000 Bk 9,910 9910 9,910 9,910
Nyxy (GRIL) 1,200 104k 0000 B/ 11, 700 11. 700 11, 700 11, 700
1 NoFr (BRIL) 1,200 104~20% 0000 M/ 10, 800 10, 800 10, 800 10, 800
NyFr ERIL) 1, 350 10405k 0000 A& 13,.900 13, 900 13, 900 13, 900
NyFr (ARIL) 1,350  10Br~208 0000 H/% 12, 600 12. 600 12, 600 12, 600
Ny Fy (BRTL) 1.500 0k 0000 | M/ 14, 400 14, 400 14, 400 14, 400
Ny F®y (GRITA) 1,500 104c~20% 0000 /8% | 13500 13, 500 13, 500 13 500
NyF >y (BRIL) 1,600 108K 0000 M /8 15, 600 15, 600 15, 600 15, 600
NyF> (BERIL) 1,600 108~20%¢ 0000 B/% 14, 400 14, 400 14, 400 14, 400
NyFr (BRIL) 1,650 108k 0000 5 P4 17, 606 17 600 17, 600 17, 600
NyFr (BERIL) 1,650  108~201% 0000 S 16, 200 16, 200 16, 200 16, 200
NyF> (BRIL) 1,800 10BOKR#E 0000 A% 18. 900 18, 900 18. 900 18, 900
NyF> (AERIL) 1,800 104~20%¢ 0000 B/% 18, 200 18, 200 18 200 18, 200
NRoFr (BRITA) 2,000 104k5% -_|6000 B/ 21, 600 21, 600 21, 600 21, 600
74

NyFr (BHRITL) 2,000 104~20% 0000 P

15, 800] 15 800[ 15, 800[ 15 800 ,
kk16_tH R xis 15/16

~ (844 ; /).
o B[ i ZERK .
ks il , v+ | -+ | B TETE TeAE [ TAlE [ TIAIE fii s
Ro ¥ (BRIL) T 800X 2, 600 _10BK® 0000 F% | i0.800] _ 10,800] _ 10,800 10, 800
Ro¥o (BRIL) [ 8002 600104 ~20% _[0000 B/t | 9.910] _9.910] _ 98.910] _ 9.910
Rody (BRIL) 2 000X 2. 900 104Kkl 0000 M. % [ 70 800] _70.800] 10, 800] 70,800
EVACT =IN) 2, 000X 2. 900 104K ~20% 10000 A 4% | 11700 11.700] __11.700] _11.700
kk16_HHE% {5 xIs 16/16

185



